3 (Sem-6/CBCS,

2023

ECONOMICS

( Honours Core )

Paper : ECO-HC-6016
( Indian Economy—II )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
Jfor the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
o9 epedRe e fi

(a) Mention one objective of Indian
monetary policy.

SRS JGIAIST 9b1 ST Seay 3497 |

(b) What is the difference between repo rate
and bank rate of RBI?
SReR e @@ @4 @ WFE @FE T]
TS *f12fg 5 7
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(c)

(d)

(e)

)}

(h)

A23/679

(2)

State one important instrument of
Indian fiscal policy.

ST TR TR 1 @l SR S
el

Write one main feature of India’s trade

What is minimum support price in
Indian agriculture?

o R R T I 12

What is mechanisation of Indian
agriculture?

sRe e T 2

Give the meaning of ‘industrial
diversification’.

g afbaay o fora |

State one reason of sickness of public
sector industries of India.

SR EEd1 999 SR FUAOR Gl IR TS
el

( Continued )

(1)

0)

(3)

What is foreign portfolio investment?

R “cenbemfee’ R &2

Name the largest service sector in India.

SREF 32V CTAAGDR A o7 |

Answer the following questions : 2x5=10

were fim erpi e i -

(@

(b)

(c)

(d)

(e)

A23/679

Distinguish between revenue deficit and
fiscal deficit.

ez N S e Wd e FeE w4

Mention two important defects of
agricultural marketing of India.
Sed SR FaEE o g i Ty o4

Write two positive effects of demone-
tisation in the Indian economy.

SROE LA Rguesm [ FRe doH
ferdt |

What is import substitution?

s Resiedd 2

Give the meaning of ‘service sector’.

‘orrae’s i
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(4)

3. Answer any four from the following

guestions : 5x4=20
weTe fral 2P R e sifer T f
of

(a) Explain any five instruments
monetary policy in India.

SHeq q@Aed R A <Awo e
ESIN
(b) Distinguish between micro, small-scale

and medium industries of India.

SRS T, Y SF T ST A [Aefg
0

(c) Point out five main defects of Indian tax

system.

SRed 9 IRER A0 TA @l Sgferiz fa |

(d) Discuss the various shortcomings of the
fiscal policy of India.

oReq  IEeRE  Mfes Rfen ez
AT 4 |

(e) Outline the agrarian structure of India.

©ReT FRTS A $o{ wcees 9 |

A23/679 ( Continued )

0

(S)

Discuss the role of service sector in
Indian economy.

SR YIS ERINGT ST ST 34 |

4. Answer the following questions : 10x4=40
were Al eprEd e fr

(@)

(b)

Examine the statement that “In recent
years there has been a shift in the
emphasis from land reforms to
technological reforms in India”. .10

TRECH! AW F9 @ RefSF TEe SEen
IR oFy S e [ RfERTR R
ZERe (= |

Or/ 941

Discuss the problems and remedies of
micro industries of India. 5+5=10

SOESY FG SCIPTHE PN AE T
TR, SACEDAT 41 |

Discuss the trade and investment policy

reforms introduced in India during post-
1990’s. 5+5=10

yedo 59 fime sRws #eq @ e e
et ST FER A== AL T4 |

{ Turn Over )

A23/679



(6) (7)

Or / 541
Or / 941
) _ y Discuss the major challenges facing
Discuss the role of foreign direct Indian agriculture in recent times. 10
investment in Indian economy. 10
Arefos SIS SRed IRA T @ T4
e SLAfes ders (e RFEeR S SOTRIPTIR, S 1 |
HCeol 91 |
: . : * kK
(c) Give an outline of the various defects of
macro-economic policies of India. 10
SReT SRR wAtes Afed Rieq @bz
82T HCERNe 941 |
Or / ¥4l b

Explain the problems of public sector
industries faced in India during post-

globalisation ~ period. Give  your
suggestions to remove such problems.
6+4=10

o eI Ca ) G O M I L E CIIRC G (ox
Freredl 497 SEOEPTIE TR @ TPIRTR

T I G2 FPIPR TR AR o
orgrap SISICET |

(d) Examine the performance of service
sector of India during post-1990’s, 10

s550 B 790! FERRE ST ORI

LA R 9 |
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3 (Sem-6/CBCS) ECO HC 2

2023

ECONOMICS

( Honours Core )

Paper : ECO-HC-6026
( Development Economics—II )
Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
o 2PTRd Oed fidl
(a) Define fertility rate.
Tfq@! TR vige T |

(b) What is microfinance?

FuRe 9 62
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(c)

(@)

(e)

(9)

(h)

A23/680

(2)

Mention one impact of land-tenure
system.

Sfi-7g ITEA b1 UOR TCE T |

Point out one common deficiency
involving in governance.

i AEES (74 T @bl STeed @ Soad
il

What is rural-urban migration?
SR eEem 3T 9 e ?

Point out one social challenge arising

from globalisation in India.

W@ﬁwwm@maﬁwﬁaﬁ
srepgle Sead 41 |

In which year was the Rio Summit held?

ﬁw’ﬂfmﬂ@mm@ﬁ@ﬁ%?

Define individual behaviour in social
environment.

AN AREre e wwaee e i |

( Continued )

(3)

(i) Mention one contribution of agriculture
to the process of economic development.

efos T eifTe JRe «bl SR ST
F40 |

() Write one cause of gender inequality in
a family.

aﬁwﬁaﬁﬂ?m@ﬁwwmmqml

2. Answer the following questions : 2x5=10

oo opTgRd Ted i
(a) Define globalisation.

e wig@ fra

() What is the relationship between the
age structure of a population and its

dependency ratio?
R IR ST S fréameTel SPTed
e 2] ! 1% 2

(c) What are the types of environmental
externalities?

WWWW%%?
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(4) (S)

(d) Why is sustainability of renewable (d) Briefly discuss the major eras of
globalisation in the last 150 years.

Q@A Seo IRIS [RAETT g YIF! BLT

resources important?

SRR o Izl [ gy 2

HICATAT 41 |
(e) What is landlord-tenant relationship? (e) Explain the factors which influence
i -+IfS S TR il can ME individual behaviour in an organisation.
oIS A TG LIRS Fa1 FREPIIR 361
BN
3. Answer any four from the following () What is fertility gap’? Explain the
questions : 5x4=20 fertility gap in terms of Leibenstein
. mﬁ T SR Seq i theory of population.
: T TR 0 CREWERR TR 09
(a) Explain the role of agriculture in GRS T4Sl F1F9 QIRECH! 90 4 |
economic development.
T2Afed THAFTO i‘ﬁ"? \_gﬁ??l BIRIIESEIN 4. Answer the following questions : 10x4=40
e 2PPTRA Bad
(b) Write‘ N Ul T SediE FuEtka i a) Discuss the functioning of labour
agrarian society. market in agrarian society. 10
FRER TS ¥ FER 67 @ft Gl a7 | FRER S AW TG RIS A
41|
(c) Explain the distinction between Or / T&dl
community governance and corporate . fianly it
governance. Explain the demographic transition
during the process of development. 10
SRR P S TS ¥ SIEE 213 <1 e oINS SPRIDE WS
| ‘
= ey cers T4 |
( Turn Over )
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(6)

(b) Examine Hirschman’s exit, voice,
loyality theory as a response to
organisational inefficiency. 10
BROEFM 2FW, T SF SRS UGl
sespfie Srrer el i AR 1 |

or / 7

Discuss the impact of globalisation on
developing countries in terms of

international finance. 10
aEsfes ed Wi RO G AR ICREEIECE
ofsg el 41 |

(c) What is governance? Discuss the main
instruments to ensure successful
governance of an organisation. 2+8=10

o R I 2 A0 @Bl e 2’30 il
41 SR SCEADl 1 |

Or / 7

Critically discuss the various land
reform measures adopted in many
developing countries. 10

Rifen S opTe of2e (1 e SRR
TREPTIE A T2 SO 1 |

A23/680 ( Continued )

| (7)

(d) In what way common property resource
theory provides a useful framework
for analysing environmental issues?

Explain. 10
YR Afe W TEORE RIS
SPIER Roms se 9 Bl ACEA
R AT R, 390 T
Or / 72l
Write short notes on : 5+5=10
o (ot el -
(i) Nutrition and labour productjvity
“[ﬂ? [ XY ST
(ii) Economic activity and climate
change
el i o SRR AR

* Kk Xk
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